QID : 201 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

farafafa v & Ry or Reedt & @ wr Ry
(?) & TUT UT A el FEA B AT

VA

Options:
1) 65

2) 32
3) 64
4) 25

Correct Answer: 64
Candidate Answer: 64




QID : 202 -

How many quadrilaterals are there in the given figure?

& g sy & fead T B

Options:
1) 3

2) 4
3) 2
4) 5

Correct Answer: 4
Candidate Answer: 4




QID : 203 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The seis of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 lo 4 and
that of Matrix-ll are numbered from 5 to 9. A lelter from these matrices can
be represented first by its row and next by its column, for example, ‘T’ can
be represented by 43, 75, etc., and ‘U’ can be represented by 20, 97, etc.
Similarly, you have to identify the set for the word “REACH?”.

TF QG hdel UF TEAT-HE gRT &im 7T §, Shar 76 fweur & o
et T 3 TG T §) fawedr & B Tv dear-adg dERi o &l a9t
a7 Riiw 91w ¥, St % U aw o amegmt & Bl IRl & Fae 3R
Ui 61 FEar 0§ 4 ¥ 3R SR A 5 F 9) 39 IR ¥ TF IR
D Ugel 3T Ufeh T aIg # TAEH TTAT GRT G o Faal Bl
SEIOT & 0 T @7 43, 75, 371G &RT T S Favall § aem ‘U &l 20,
97, 3fE U CURT S Heval ¥ 3 alg & U@ wa & QU g
“REACH” & T o ol ugomear &)

Matrix-I Matrix-ll

gl el
012134 5|16[7]8]9
Q|Y|[C|U|G]| I S5|P|K|D|F|R
1Kl [H|]Q|E 6|G(W|O|H|V
2|U[E|Y|B|A T|IT{S|Y|J]|S
3|F|H|P|L|N S8|H|F|I|L|R
41A[R|M|T]|O G|ID|S|U|NJA

Options:
1) 41, 21, 24,01, 12

2) 89, 14, 69, 01, 85
3) 41, 89, 99, 89, 10

4) 21, 59, 40, 59, 12
Correct Answer: 41, 21, 24,01, 12
Candidate Answer: 41, 21, 24,01, 12

R o T T e e T /



QID : 204 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

&1 9 TER Agpiad d ¥ 3@ 39 Apla & T
S 3t uar smpfa @fea €

\

Options:
1)

\/
/\

4)

Correct Answer:

Candidate Answer:




QID : 205 -

Which answer figure will complete the pattern in the
question figure?

wid W 3O ARG WY HEa & uldsw & g
THIIN?

//

YA TEAN

Options:

1)
/N

2)

N
3)

FZEN
4)

BN

Correct Answer:

Candidate Answer:

/o




QID : 206 -

If & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ife T YT T AB I@T WX T@M AW, & &1 TS
AT Apiaar & @ Hia O Adpla Uy e dr
e ufafewe gefre

g
AN

Options:
1)




Candidate Answer:
SN
4
/8

QID : 207 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & wy pfadl § RREmw HgER e @
AlST Tedd dA Tied & 918 98 A oK HTEA
star g gome

NI

Options:

1)

H

4)

i




Correct Answer:

EN

Candidate Answer:

N

QID 208 - If '+' means '+, X' means '— means '+ and
='means X, then

16 —-5+2+22x9=?

gfe '+ cpr o7 '+ X' cpr 37 = ' aur 31 '+ gUT '+ &t 31 X!

gl,

16 -5+2+22x9="?
Options:

1) 82

2) 62

3) 60

4) 44

Correct Answer: 62
Candidate Answer: 62

QID:209-1f11C12D24=22and4C6D 12 =8, then
4C9D18="?

gie11C12D24=223a14C6D12=8g at

4C9D18=2_



Options:

1) 22

2)12

3) 16

4) 8

Correct Answer: 8
Candidate Answer: 8

QID : 210 - Arrange the given words in the sequence in
which they occur in the dictionary.

1. Marked
2. Maker
3. Marker
4. Master
5. Mars

fAFITeTREd 2real el TEERIRT H ST dTed ThH oh IR ol |

1. Marked
2. Maker
3. Marker
4. Master
9. Mars
Options:
1) 21354

2) 23154

3) 25314

4) 21534 —— .



Correct Answer: 21354
Candidate Answer: 21354

QID : 211 - In the following question, select the missing
number from the given series.

3, 14, 35, 46, 67, ?
ffeiiRad s & AT U faeretl & 9 T Sick AT HIFST|

3, 14, 35, 46, 67, ?
Options:

1) 78

2) 68

3) 98

4) 88

Correct Answer: /8
Candidate Answer: 78

QID : 212 - A series is given with one term missing. Select
the correct alternative from the given ones that will
complete the series.

XYZ, ABC, DEF, ?

ek 31ehd 1T T 8, FOI9H & Uk UG i g1 fu 71Q faehedt |
Y ag Tl fdehed T, ST ST<IchH ohl TRT 1|

XYZ, ABC, DEF, ?




Options:
1) HIJ

2) GHK
3) GHI

4) GHJ
Correct Answer: GHI
Candidate Answer: GHI

QID : 213 - In the following question, select the odd word
from the given alternatives.

ffeiiRed s # fCu U faereul & 9 fawd 212 ot gHT|
Options:

1) Mercury

o

2) Mars

HileT

3) Earth

gedt

4) Sun

©

Correct Answer: Sun

T

Candidate Answer: Sun

S




QID : 214 - In the following question, select the odd
number pair from the given alternatives.

fFfeiiRad s # QU 7T faeretl # O fawH G g ahl gHT|
Options:
1) 221 - 663

2) 190 - 570
3) 264 - 792

4) 108 — 323
Correct Answer: 108 — 323
Candidate Answer: 108 — 323

QID : 215 - In the following question, select the odd letters
from the given alternatives.

Fferfea o o [T 7 faerent & T faww s1ert o gyl
Options:
1) AZ

2) BY
3) MN
4) LP

Correct Answer: LP
Candidate Answer: LP




QID : 216 - Identify the diagram that best represents the
relationship among the given classes.

Liquid, Milk, Water

I8 JTRW Y Sl A U 7Y o1t <k ofir o Gaier oht Hal (Aegur
AT gl

a3, g, STt
Options:

@O o |H”

Correct Answer:

idate Answer:

O
Q)
=
Q.




QID : 217 - In the following question, select the related
word from the given alternatives.

Apple : Fruit: : Mars : ?
Fferfaa uw A 1&g g faerent & @ Heifara 2ree ol gATl

Q9 : el & : HITeT : ?
Options:

1) War

I

2) Planet

e
3) Cartoon

Pl

4) Orbit

<h&ll

Correct Answer: Planet
s

Candidate Answer: Planet
U




QID : 218 - In the following question, select the related
number from the given alternatives.

432 :654::321:7?

ffeiiRad s 7 AU U faeretl & O Heifda T &l gl
432 :654::321:7?

Options:

1) 653

2) 431

3) 543

4) 987
Correct Answer: 543
Candidate Answer: 543

QID : 219 - In the following question, select the related
letters from the given alternatives.

MEAT : LDZS : : PALE: ?
Fefefea oy & oy 7y farent 7 & Tafda siert ot gyl

MEAT :LDZS : : PALE: ?




Options:
1) OKZD

2) OBMF
3) 0ZKD

4) OZDK
Correct Answer: OZKD
Candidate Answer: OZKD

QID : 220 - In the following question, select the word
which cannot be formed using the letters of the given
word.

COUNTERFEIT

IR forehetl | 9 ag 2Mec T St f&T 7T 2Meg oh S7eRI <
UIRT ehech gl a1 ST ehdT |

COUNTERFEIT
Options:
1) TURN

2) COUNT
3) FOUND

4) TIRE
Correct Answer: FOUND
Candidate Answer: FOUND

| ==




QID : 221 -Pis 3 years older to Q. Q is 4 years younger to
R.Ris 4 years olderto S. Sis 5 years youngerto T. Who is
the eldest?

PQUd3a¥ydereglQ RI4auBICISIR ST4avderslS, T
9599 Blicr gl 9 FST i 872

Options:
1)Q

2) T

3)R

4) S
Correct Answer: T
Candidate Answer: T

QID : 222 - Z walks 33 km towards north. He turns left and
walks 19 km. He turns left and walks 33 km. How far (in
km) is he from his starting point?

Z IR <1 3R 33 fop. =it Terdr 81 ag oIt SR HSdT 8 a1 19
feh. Y. <reTaT g1 a8 91dT STR HSdT g d4T 33 foh |l IeTd1 81 a8
310 IRfAeh fovg O fora=it gt (foh. =, &) ur g2




Options:
1) 14

4) V32
Correct Answer: 19
Candidate Answer: 19




QID : 223 - In the following question below are given
some statements followed by some conclusions. Taking
the given statements to be true even if they seem to be at
variance from commonly known facts, read all the
conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
l. All K are M.
. No Lis K.

Conclusions:
. No Lis M.
Il. Some K are not M.

- 14U TG U | 0 YA STR ITch 91G I hYHT TR ST
%o A~y U 7Y &, getifch 34H THT AT 921 I {91 gl
Gaonal o1 Tt ey U6 ofik Ttk MuiRa a fah e e sl @
fseRy, f4Q TG SRl e STUR WR GhdTTd 8

<chY.
. g9t K, M &1
. 8 L, KT8l &1

A
.5 L, M T8I gl
Il. o K, M 81 g1




Options:
1) Only conclusion (1) follows.
had fsnt (1) Te 8l
2) Only conclusion (IlI) follows.
Share s (Il) T B
3) Both conclusion follow.
gl gt fshy Tgl gl
4) Neither conclusion (I) nor conclusion (Il) follows.
T al fAseRy (1) 7 1 Asehy (1) T8t 8l
Correct Answer: Neither conclusion (I) nor conclusion (ll)
follows.
T &t Ry (1) 7 & Freens (1) g &
Candidate Answer: Neither conclusion (I) nor conclusion
(1) follows.

T @t fAeend (1) 7 8 feeny (1) T21 &1

QID : 224 - In a certain code language, 'sky' is written as
tall’, 'tall' is written as 'short’, 'short' is written as 'red’, 'red’
is written as 'blue’ and 'blue’ is written as 'sun’. What is the
colour of tomato?

Uch [ATRTE ehis YTOT H, 'STRIRT ! '&TF T, '&FIT i 'BieT, 'Bler
<hl ‘AT, ATl hl ST qUT '=ier l g’ el Siram g1 eAreR

chT 97 T &7




Options:
1) sky
SThIRT
2) tall
[GESI

3) blue
e

4) red
NI

Correct Answer: blue

T

Candidate Answer: blue

Sl

QID : 225 - In a certain code language, "FUNK" is written
as "51" and "HULK" is written as "51". How is "HERO"
written in that code language?

Uch faAfr® sl 9T o, "FUNK" &t "51" d2T1 "HULK" @t "51"
1T STTd1 81 39 hls 99T & "HEROQ" b fohd UahR foiRar Saam?
Options:

1) 45

2) 47

3) 43

4) 50

Correct Answer: 45

Candidate Answer: 45




QID : 226 - Suresh bought a shirt for Rs 697 with a
discount of 18% on the marked price. Find the marked
price of the shirt.

YRRT A Ueh hHIST Sifchd Hed TR 18% hl e o 91¢ 697 T H
&It | 1E ot Sifchd Heg adTy|

Options:

1) Rs 850

850 %

2) Rs 840
840

3) Rs 831
8313

4) Rs 951
9513

Correct Answer: Rs 850
850 %

Candidate Answer: Rs 850
850%

QID : 227 - The sum of all odd integers between 12 and 42
is__ .

12 R 42 o st <hl G4t fawH gquries d=areii hranr g
Options:

1) 415

2) 405

3) 440

4) 410

Correct Answer: 405

r - o . — . - Sy P dan = - .«.g_/ I




Candidate Answer: 405

QID : 228 - Salim can do a piece of work in 30 days and
Javed can do the same work in 45 days. After work
together for 15 days, Javed stops working. How many
days Salim will take to complete the work that is left?

el Teh hd ant 30 AT 1 & R TopdT § 3R Si1dg 34T |
ohl 45 &1 # URT R GepdT &1 IET A ohl 15 &1 s a1y
fHeTehe ¥ oh dITE SITAG ShTH hedT &G e el & | el o g4
<hTH <hl UXT A | Tehd =T THY THTTYAN?

Options:

1) 4 days

4 &

2) 8 days

8 fea

3) 6 days

6 fem

4) 5 days

5 fed

Correct Answer: 5 days

5 fad

Candidate Answer: 5 days

5 fed




QID : 229 - A and B walk at average speed of 2 km/hr and
3 km/hr respectively. If A walks in North direction and B in
East direction beginning from the same origin at the same
time, what will be the distance between the two after 2
hours?

A TT B ShAST: 2 fehHl/Eer 3R 3 fehHl/Eier dhl SiEd Tid & =eid
g1 SR A IR bl fearm # 3R B U <hl f&2m # Qe gt foig 9 Teh
! THY H AT STRF hed g, di 2 T S1g I-Tch il chl G2 T
giTit?

Options:

1) 10 km

10 ferH.

2) 2v13 km
2v13 e,

3) v13/2 km
v13/2 T,

4) v26 km
V26 T,

Correct Answer: 2v13 km

2v13 R .

Candidate Answer: 2v13 km
2v13 fah .

QID : 230 - Dravid scored 45, 43, 62 and 74 in a series of
four one-day cricket match. What is his average score for
the series?

gfae 7 4 7 i Yahicasiy fehche ST | 45, 43, 62 3R 74
I SHTY | 39 el H IHhT 3G “hiR T §?




Options:

1) 60

2) 58

3) 54

4) 56

Correct Answer: 56
Candidate Answer: 56

QID : 231 - A shopkeeper offers 12% discount on an
electronic gadget with a marked price of Rs 5700. If he
still earns a profit of Rs 500, what is the cost price of the
gadget?

Qeh gehMaR 5700 % 3ifchd Hed dlel Ueh Selcreli-eh Toie IR 12%
B &l g1 3R iR ot ag 500 ¥ T AT HATT &, ol Toie
ohd Yo RIT 87

Options:

1) Rs 4500

4500 2

2) Rs 5516
5516 %

3) Rs 6200
6200 %

4) Rs 4516
4516 %

Correct Answer: Rs 4516
4576 2

Candidate Answer: Rs 4516
45163




QID : 232 - The total surface area of a cube is 1734 cm?2.
What is the volume of this cube?

Qeh 1 ohT 0T U8 &5thel 1734 TH12 81 39 U ohT STId 1
87

Options:

1) 4913 cm?

4913 {3

2) 5013cm?
501333

3) 4813 cm?®
4813 93

4) 4713 cm?
4713 93

Correct Answer: 4913 cm?®
4913 Q3

Candidate Answer: 4913 cm?3
4913 9H3

QID : 233 - A number when divided by 7 leaves a
remainder 4. When the square of the number is divided by
7 the remainderis ____.

Uch O oht 7 O fa9IfSId o IR 4 AW S=dT g | 519 39 &7 h
i ot 7 ° fauifSia [har Sirar g, af IVl __ B




Options:

1) 4

2) 2

3)3

4) 1

Correct Answer: 2
Candidate Answer: 2

QID : 234 - The sum of all three digit natural numbers
divisible by 9is ___.

9 ¥ fauTfSId g1 aTelt 3 3ichi <hl AHT UTchd HATSHT AT TN
2l

Options:
1) 55300
2) 55350
3) 55500
4) 55555
Correct Answer: 55350

Candidate Answer: 55350

QID : 235 - A person who spends 92 % of his monthly
income is able to save Rs 2500. What is his monthly
Income?

Uch Hfth 3TUA ATfYeh 3 el 92% @ ehe T & 37k 2500 3T
<hl AT TTd hdT &1 IUchl ATfYh 31T T 87




Options:
1) Rs 31250
312502

2) Rs 30500
30500 ©
3) Rs 32550
32550 %
4) Rs 32250
32250 %

Correct Answer: Rs 31250
31250%

Candidate Answer: Rs 31250
312502

QID : 236 - A cloth seller sells 80% of his stock for a
particular item and recovers the cost price. If he sells the
remaining stock at the same price then what will be his
profit percentage after selling the complete stock?

Uch a5 fdchd] AR A oh 37U Tidch ehf 80 UTITd ddT & 3R
hd Tod Igel oidT 81 3R I8 d gY ek ohl It Hed UR ST
SR TGN 8 Al T Wik s+ h dlTe S8ehT o1 UTARTd T gRIT?
Options:

1) 20%

2) 25%

3) 40%

4) 10%

Correct Answer: 25%

Candidate Answer: 25%




QID : 237 - A sum of Rs 9000 brings simple interest of Rs
2970 in three years. If the interest rate is increased by 2 %,
what will be the interest in three years on the same
capital?

9000 ¥ <hl ¥=RIfI 4R 3 g9 | 2970 T JTYRUT ATST [HeldT 8l
3R &TST hl & 2% F&l &l ST, df 3 a9 & IT YRTIRT IR TS
fehd=TT g TT?

Options:

1) Rs 3520

35202

2) Rs 3510
3510%

3) Rs 3540
3540%

4) Rs 3550
3550 %

Correct Answer: Rs 3510
35103

Candidate Answer: Rs 3510
35103

QID : 238 - What least number must be added to 738 so
that the sum is completely divisible by 597?

738 H hH ¥ hH fohdHT T Site-t gy difch et IRT 59 &
gui faursy gt Sire?




Options:

1) 15

2) 13

3) 27

4) 29

Correct Answer: 29
Candidate Answer: 29

QID : 239 - The monthly salaries of A‘and B are in the ratio
4:5. If both of them get a salary increment of Rs 3000 per
month, the new ratio of their monthly salary becomes 5:6.
What is the new monthly salary of A?

A AT B o H1feh da1 bl S1qUId 4:5 81 3R &A1 ot 3000
<hl ATk dd- dig fHedt 8, a Ich ATieh dd-i AT =T urd
5:6 8 STIAT &1 A ohT =191 HTf¥ich dd- &1 87?

Options:

1) Rs 15000

15000 3

2) Rs 18000
18000

3) Rs 8000
8000 %

4) Rs 11000
11000 ©

Correct Answer: Rs 15000
15000 @

Candidate Answer: Rs 15000
15000 %




QID : 240 - A car covers a distance of 16 kms in 30
minutes. What is its average speed?

Qeh R 16 fohHT. chl g2t 30 TAFT H T ohedl g1 IGeh! HEd Tid
T §?

Options:

1) 16 km/hr

16 fehdt. /e

2) 32 km/hr
32 fepdt. /der
3) 24 km/hr
24 fpeY. /eier
4) 8 km/hr
8 foret. /gier

Correct Answer: 32 km/hr
32 fepHY. /8T

Candidate Answer: 32 km/hr
32 fepdt. /geT

QID : 241 - The sum of 6 consecutive integers is 9. What
is the lowest integer?

6 IR YUTieh SATSI <hl INT 9 ¢ | HeId BICT UTich HEAT R
87




Options:
1) 1

3) -2

4) -1
Correct Answer: -1
Candidate Answer: -1

QID : 242 - Sohan spends 80% of his salary and saves the
rest. If his salary is increased by 20% and he saves half of
the increased amount besides the amount he previously
used to save, what will be the percentage change in his
monthly savings?

g 370+ dd-l bl 80% W ehdl & 311 AW hl Jd hedl g
3R JGch I H 20% <hl g chl STl & 3R I8 Ugel ¥ oI
3 H Uh MR oh STATAT A= Jleg hT STYT [ETT I Sl g,
dl 38ch A1 sd H fohd= UidId &l URad- gi?

Options:
1) 20%

2) 40%
3) 50%
4) 10%

Correct Answer: 50%
Candidate Answer: 50%




QID : 243 - How many integers are there between 39 and
420 which are exactly divisible by 9?

39 3k 420 % 19 9 A G aRe A ey & arelt yurfes Ty
fohat 872

Options:

1) 41

2) 42

3) 43

4) 44

Correct Answer: 42

Candidate Answer: 42

QID : 244 - A shopkeeper sells stock of 6 buckets at a
total loss of Rs 360 divided equally on each bucket. If he
incurs a loss of 20 percent on this stock, what is the
selling price of each bucket?

Qh GhFGR 6 Slfecdl o Teh Lich H & Uch dlec] hl Yeh THT
gl TR el 360 FTUY ch ThdTH TR STdT &1 3R I 39 ich TR
el 20 Ufasra bl g1 gidl 8, dt Uich dTed] ol faehd Hed

g7




Options:
1) Rs 240
2403

2) Rs 260
260 %

3) Rs 280
280F

4) Rs 290
200 %

Correct Answer: Rs 240
240 %

Candidate Answer: Rs 240
2403

QID : 245 - Rajat does a work in 10 days and Suhail does
the same work in 15 days. In how many days they
together will do the same work?

oTd Ueh &1 10 &A1 5 OR1 ahar g SR geot It i @t 15 et
ORT H h3dl g1 Il 1Y fAeTehe I hiH ohl fohd= f&=T | grT ahdit?
Options:

1) 6 days

6 fa1

2) 5 days

5 fea

3) 4 days

4 &

4) 8 days

8 fa




Correct Answer: 6 days

6 fo

Candidate Answer: 6 days

6 faa

QID : 246 - If Rs 2232 is divided in the ratio of 8:13:15
among A, B and C respectively, what will be the share of
B?

3R 2232 % <hl A, B YT C o s 8:13:15 <h S<UTd H fauiiota
fhdT ST &, df B <hT To T o1 gRTI?

Options:
1) Rs 496
496 3

2) Rs 806
8063

3) Rs 706
706 %

4) Rs 930
930 %

Correct Answer: Rs 806
806 %

Candidate Answer: Rs 806
806 %




QID : 247 -

The pie chart below shows fund allocated to a village for different
areas covered under a special village development scheme of Rs
1200 Crore. Answer the question below on the basis of the details
given in the following pie chart.

A o o 98 & ve A 9w & weEor [ew diser & dgd
Tafieer FEl 27 3mafed el 1200 RIS T T R & fgazor
g1 TrafofEd usd a3 915 O 7 giv aw e Al &
ol & 9afdd 3TesT & 3R W Sl

o Sevage}\qlaa

B prinking Water/UZafol

S22%
O Toilet/el=merar

o Community

centreMﬁﬁ Hex
o Electrification/ aa_zlfilmu

Y Road/Ts®

What is the total fund allocation for Road and Sevage
construction together?

TSk 3R HiasT gl o fAafor & forg sirdfed gpet iy ford=t 87

Options:
1) Rs 456 Crore
456 RIS TTY

2) Rs 466 crore
466 RIS ST

3) Rs 468 crore
468 s TUY

4) Rs 492 crore
492 e 3UY

Correct Answer: Rs 456 Crore

456 IS I

= T W ]



Candidate Answer: Rs 456 Crore
456 RIS ST



QID : 248 -

The pie chart below shows fund allocated to a village for different
areas covered under a special village development scheme of Rs
1200 Crore. Answer the question below on the basis of the details
given in the following pie chart.

A fow a1s 9 # ve aa Ay F areEor S dser & dgd
Tafieer FEl 27 3mafed el 1200 RIS T T R & fgazor
& Trafafag g 3 95 9 & v av [Jffes At &
ool & gafdd 3fehst & 3R« I

o Sevage}\qlaa

B prinking Water/UZafol

2%
O Toilet/el=merar

o Community

centreMﬁﬁ Hex
O Electrification/ aa_zlfilmu

Y Road/Ts®

Find the total budget for electrification?

farelctenzut ok foIq et sroTe fohdHT 872
Options:

1) Rs 60 Crore

60 s 3ud

2) Rs 100 Crore

100 a3tg 20d

3) Rs 10 Crore
10 o3t ¥Ud

4) Rs 120 Crore
120 s TUD

Correct Answer: Rs 120 Crore

120 eiS 3




Candidate Answer: Rs 120 Crore

120 s TUL

QID : 249 -

The pie chart below shows fund allocated to a village for different
areas covered under a special village development scheme of Rs
1200 Crore. Answer the question below on the basis of the details
given in the following pie chart.

7R Gu Ors 9ré & ve A 99w F weEor A dieer & dgd
fafeteer @el & smafed el 1200 05 T 6T =R & fdagor
g1 Trafafag e @ sax Is @ # cuiiv v [Jffew Al &
Bt & Tafid st & 3R W &

o Sevage/\qlaa

;zz% O prinking Water/9=IaTol

O Toilet/l=Terd

o Community

centre/ﬂa‘Fx’{ﬁﬂ"T Hex
o E[ectrification/ﬁ?{{[jﬁm

Y Road/9s®

What is the total fund allocation for Drinking Water and
Toilet together?

OgsTel SR AT ST o oIy et fohat Afer srafed g2




Options:
1) Rs 676 Crore
676 RIS TUY

2) Rs 576 Crore
576 IS TUY
3) Rs 588 Crore
588 hits vUY

4) Rs 598 Crore
598 e TUY

Correct Answer: Rs 576 Crore

576 IS ST

Candidate Answer: Rs 576 Crore
576 s vUY




QID : 250 -

The pie chart below shows fund allocated to a village for different
areas covered under a special village development scheme of Rs
1200 Crore. Answer the question below on the basis of the details
given in the following pie chart.

A fow a1s 9 # ve aa Ay F areEor S dser & dgd
Tafieer FEl 27 3mafed el 1200 RIS T T R & fgazor
& Trafafag g 3 95 9 & v av [Jffes At &
ool & gafdd 3fehst & 3R« I

o Sevage}\qlaa

B prinking Water/UZafol

2%
O Toilet/el=merar

o Community

centreMﬁﬁ Hex
O Electrification/ aa_zlfilmu

Y Road/Ts®

How much more amount is allocated for Drinking Water
than that for the Sevage construction?

et (AT & fe1g STreted i I Ugstel o foig iR fohast
31feren AfRA Srreifed <hi 173 82

Options:

1) Rs 48 Crore

48 e TUY

2) Rs 40 Crore

40 TS YL

3) Rs 36 Crore

36 IS TUY

4) Rs 24 Crore
24 S T




Correct Answer: Rs 48 Crore

48 S TUY

Candidate Answer: Rs 48 Crore

48 e U

QID : 251 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

A century ago, Math was thought (1) /to be a orderly
Platonic phenomenon, (2) / imperious in its perfection. (3)
/ No error (4)

Options:

1) 1

2) 2

3)3

4) 4

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID : 252 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Mathematics increasingly revealed truths itself (1)/ that
utterly confounded the (2)/ expectations of philosophers.
(3)/ No error (4)




Options:
1) 1

2) 2
3) 3

4) 4
Correct Answer: 1
Candidate Answer: 1

QID : 253 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.

Our troops fought bravely.

Options:
1) are

2) have
3) were

4) has
Correct Answer: have
Candidate Answer: were




QID : 254 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.

Neither of them has done
Options:
1) its

duty.

2) their
3) his

4) them
Correct Answer: their
Candidate Answer: his

QID : 255 - In the following question, out of the given four
alternatives, select the one which best expresses the
meaning of the given word.

Afflict

Options:

1) Comfort

2) Annoy

3) Solace

4) Care

Correct Answer: Annoy

Candidate Answer: Care




QID : 256 - In the following question, out of the given four
alternatives, select the one which best expresses the
meaning of the given word.

Barrier
Options:
1) Bound

2) Open
3) Minimum

4) Free
Correct Answer: Bound
Candidate Answer: Minimum

QID : 257 - In the following question, out of the given four
alternatives, select the one which best expresses the
meaning of the given word.

Bind
Options:
1) Release

2) Unite
3) Fasten

4) Loose
Correct Answer: Unite
Candidate Answer: Unite




QID : 258 - In the following question, out of the given four
alternatives, select the one which is opposite in meaning
of the given word.

Reason

Options:

1) Brain

2) Charge

3) Acumen

4) Intellect

Correct Answer: Charge

Candidate Answer: Acumen

QID : 259 - In the following question, out of the given four
alternatives, select the one which is opposite in meaning
of the given word.

Rectify
Options:
1) Adjust
2) Amend
3) Falsify

4) Improve
Correct Answer: Falsify
Candidate Answer: Falsify




QID : 260 - In the following question, out of the given four
alternatives, select the one which is opposite in meaning
of the given word.

Incite
Options:
1) Discourage

2) Craze
3) Agitate

4) Activate
Correct Answer: Discourage
Candidate Answer: Activate

QID : 261 - In the following question, out of the four given
alternatives, select the alternative which best expresses
the meaning of the Idiom/Phrase.

At the drop of a hat
Options:
1) Rarely

2) Hardly
3) Instantly

4) Quietly
Correct Answer: Instantly
Candidate Answer: [ NOT ANSWERED ]




QID : 262 - In the following question, out of the four given
alternatives, select the alternative which best expresses
the meaning of the Idiom/Phrase.

Be glad to see the back of
Options:
1) To speak of an issue

2) Do what is expected
3) Be happy when a person leaves

4) Examining something carefully to not miss out any
details

Correct Answer: Be happy when a person leaves

Candidate Answer: Examining something carefully to not
miss out any details

QID : 263 - Improve the bracketed part of the sentence.

Perhaps you make it a (pointing) to read the business or
sports section of your daily newspaper.

Options:
1) point
2) points
3) pointed

4) No improvement

r - o . — . - Sy P dan = - .«.g_/ I




Correct Answer: point
Candidate Answer: No improvement

QID : 264 - Improve the bracketed part of the sentence.

Take a look at this video to understand why dancing is the
first (steps) to conquer any fitness test.

Options:
1) stepping

2) stone
3) step

4) No improvement
Correct Answer: step
Candidate Answer: step

QID : 265 - In the following question, out of the four given
alternatives, select the alternative which is the best
substitute of the phrase.

Dealing with cells
Options:

1) Cryptograph

2) Cytology

3) Calliography

4) Cynosure

r - o . — . - Sy P dan = - .«.g_/ I




Correct Answer: Cytology
Candidate Answer: Cytology

QID : 266 - In the following question, out of the four given
alternatives, select the alternative which is the best
substitute of the phrase.

Turning point of danger/disease
Options:
1) Cresendo

2) Creditor
3) Crisis

4) Convergence
Correct Answer: Crisis
Candidate Answer: [ NOT ANSWERED ]

QID : 267 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.

Options:
1) Vegetation

2) Vegitation
3) Vegetashun

4) Vegieetation
Correct Answer: Vegetation




Candidate Answer: Vegetation

QID : 268 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.

Options:
1) Scientist

2) Signtist
3) Sceintist

4) Scientest
Correct Answer: Scientist
Candidate Answer: Scientist

QID : 269 - Rearrange the parts of the sentence in correct
order.

You must

P: [esson before you
Q: learn your

R: leave the class

Options:
1) PRQ
2) RQP
3) QPR

4) RPQ




Correct Answer: QPR
Candidate Answer: QPR

QID : 270 - Rearrange the parts of the sentence in correct
order.

Most of

P: | had invited
Q: turned up
R: the people
Options:

1) PRQ

2) RQP
3) QPR
4) RPQ

Correct Answer: RPQ
Candidate Answer: RQP




QID : 271 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Over the centuries, as society has become more
democratic, etiquette has become an excellent of
good manners, common sense, and rules of conduct that
_ cultural norms and the rules of our society as a
whole rather just one distinct group within it. It has
_ to do with the fashion of the moment or who is in
power and more to do with putting others at _ and an
ethical code of conduct.

an excellent of good manners
Options:

1) combiation

2) shake

3) focus

4) mat

Correct Answer: combiation
Candidate Answer: combiation




QID : 272 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Over the centuries, as society has become more
democratic, etiquette has become an excellent of
good manners, common sense, and rules of conduct that
_ cultural norms and the rules of our society as a
whole rather just one distinct group within it. It has
_ to do with the fashion of the moment or who is in
power and more to do with putting others at _ and an
ethical code of conduct.

that cultural norms
Options:

1) were

2) reflect

3) not

4) on

Correct Answer: reflect
Candidate Answer: were




QID : 273 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Over the centuries, as society has become more
democratic, etiquette has become an excellent of
good manners, common sense, and rules of conduct that
_ cultural norms and the rules of our society as a
whole rather just one distinct group within it. It has
_ to do with the fashion of the moment or who is in
power and more to do with putting others at _ and an
ethical code of conduct.

whole rather just one
Options:

1) they

2) this

3) than

4) those

Correct Answer: than
Candidate Answer: than




QID : 274 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Over the centuries, as society has become more
democratic, etiquette has become an excellent of
good manners, common sense, and rules of conduct that
_ cultural norms and the rules of our society as a
whole rather just one distinct group within it. It has
_ to do with the fashion of the moment or who is in
power and more to do with putting others at _ and an
ethical code of conduct.

It has to do with
Options:

1) rounds

2) base

3) mildly

4) less

Correct Answer: less
Candidate Answer: less




QID : 275 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Over the centuries, as society has become more
democratic, etiquette has become an excellent of
good manners, common sense, and rules of conduct that
_ cultural norms and the rules of our society as a
whole rather just one distinct group within it. It has
_ to do with the fashion of the moment or who is in
power and more to do with putting others at _ and an
ethical code of conduct.

putting others at and an ethical code
Options:

1) there

2) them

3) a

4) an

Correct Answer: an

Candidate Answer: there

QID : 276 - The people of the Harappan civilization were

gSWT TRl oh T o




Options:
1) Rural
IO
2) Urban
N
3) Nomad
LCIEICAR]]
4) Tribal
S ENIGIE

Correct Answer: Urban
M

Candidate Answer: Urban

SRS

QID : 277 - Who was the first Tirthankara of the Jains?

il eh Uget didehs i o7?

Options:
1) Aristhenemi

JTREAA

2) Parshwnath
qTgeTe
3) Ajitnath

o
4) Rishabhdev
LR

Correct Answer: Rishabhdev

E KR
Candidate Answer: [ NOT ANSWERED ]

r - o . — . - Sy P dan = - .«.g_/ I



QID : 278 - Which of the following is NOT a part of the
solar system?

AEfead & @ ole 91 GRS ol IRTAgl & ?

Options:
1) Asteroid

galg
2) Comet

YA

3) Planet

e
4) Nebula

Correct Answer: Nebula

Candidate Answer: Nebula

RREISET!

QID : 279 - What is the total number of continents in the
world?

fasg o AgTEIUl <hl et T fehast @ 2
Options:

1) 5

2) 6

3)7

4) 8

Correct Answer: 7/

Candidate Answer: 7




QID : 280 - What was the basis of formation of the Indian
Constituent Assembly?

YR chl HIGUTT GHT TS i T SR T AT?
Options:

1) Proposal of Indian National Congress
YR AETT hiUG &l UKTd

2) Cabinet Mission Plan, 1946

chidHe A W, 1946

3) Indian Independence Act, 1947
WRAI TdadT AfAfgH, 1947

4) Proposals of the provincial / state legislature of the
Indian Dominion

YRAT SHAIH h Uid™ / 5T [DeT-HSA o UdTd

Correct Answer: Cabinet Mission Plan, 1946

chigHe M I, 1946
Candidate Answer: [ NOT ANSWERED ]

QID : 281 - What type of constitution does India have?

YR ohl GAYT fohg UhR T 87
Options:

1) Flexible

&

2) Rigid

IR~

3) Flexible and Rigid

T 3R 3R

4) No option is Correct

1S faehey TET Tgl @




Correct Answer: Flexible and Rigid
TR 3R 3R

Candidate Answer: Flexible and Rigid
TR 3R SR

QID : 282 - Which unemployment is found in abundance in
rural India?

WRA | YMHIOT &3] H ehlH-Ht SRISHTRT 3ffeleh UTS ST 872
Options:
1) Seasonal unemployment

HIGHT SRISTIRT

2) Invisible unemployment

31T SRISHTRI

3) Both seasonal and invisible unemployment

HIGHT 3R 31T SRISTIRT &A1

4) No option is right

ohis oft faehey Tl o1 &

Correct Answer: Both seasonal and invisible
unemployment

HIHT SR 37GRT SRISHIRT &1

Candidate Answer: Seasonal unemployment

HEHT SRISRT

QID : 283 - What are the terms "bull and bear" is related
10?

"gel U R reaTeretl 1 ey fohad 8 2




Options:
1) Stock market
Tich HIhc

2) Banking

3) foreign currency
faeft mer

4) Internal business
3TdReh ATUR

Correct Answer: Stock market
ICich HIhe

Candidate Answer: Stock market

Tleh Hlche

QID : 284 - How much is the charge of an electron?

Uch eteraid U= foha T SERT gidT 6 ?
Options:
1)-1.6x 1012 C

2)+1.6x10719C
3)-1.6x10'°C

4)+1.6x1012C
Correct Answer:-1.6 x1071°C
Candidate Answer: +1.6 x 10°1° C




QID : 285 - What is used to test acid and base?

37¢H T U oh URI&TUT o foIu fehgent IuaitT fohar Sirar 82
Options:
1) Litmus paper

A
22 Cobalt paper
chldlTed T3
3) Ammonia paper

U

4) No option is right
g Y fdehey TaI 81 §
Correct Answer: Litmus paper

foleqg o3

Candidate Answer: Litmus paper

GRCERCES

QID : 286 - Parsec is the unit of

Ui (parsec) 3hla s |

Options:

1) distance
E,_;fr )

2) time
a9 <hl

3) Brightness
UhIRT hl THh <hl

4) Of magnetic force

TFSIhIY ST <hl

r - o . — . - Sy P dan = - .«.g_/ I




Correct Answer: distance
o

Candidate Answer: time
g <hl

QID : 287 - The pressure inside the soap bubble is

TS h Jeldel oh 3+ Rl &I |
Options:

1) more than atmospheric pressure
IgHESAY &1 I 3ffedeh gl gl

2) Less than atmospheric pressure
ARIHENT &1d ¥ hH gidT &

3) equal to atmospheric pressure

AIgHESA I GId h SRR gidl g |

4) Half of the Atmospheric pressure
ARGHESAT G <hT STYT idT 8|

Correct Answer: more than atmospheric pressure
IgHE T S1d ¥ 37{eeh gIdT 8|
Candidate Answer: [ NOT ANSWERED ]

QID : 288 - The study of flowers is called

Tl ST ST hgdldl gl




Options:
1) Spermology
A TSI

2) Anthology
VAT

-

3) Pedology

4) Pomology
PIEIEIS]

Correct Answer: Anthology
eI
Candidate Answer: Pomology

grATeTTSil

QID : 289 - Which of the following harmone is helpful in
ripening of natural fruit?

ETTeTRET | & <hi< HT Yeh UTchicich el UchTH dTell §HIH g ?
Options:

1) Cytokinin

S IEHEIEER

2) Gibberellin

Sisifer=

3) Auxin

STfeRT

4) Ethylene

QA

Correct Answer: Ethylene

R




Candidate Answer: Ethylene

QA

QID : 290 - The harmful ultraviolet rays which comes from
Sun causes

g ¥ 37 el gl-ehReh URTeHT fafeheort 9 giar g
|

Options:

1) lung cancer
thths hl chaR

2) mouth cancer
g hT hel’

3) Skin cancer
I <hT ek

4) Liver cancer
>
Ihd Thl haR
Correct Answer: Skin cancer
T T har

Candidate Answer: Skin cancer
T hl e

QID : 291 - Hydroponics is related to
grEsiufaey awifdd 8




Options:

1) growth of plant without sail
fflefr ch foreT Utert <ht gieg @
2) growth of plant without water

EIFﬁa?%FITEﬁ%ﬁEﬁE[@@

3) conservation of water technology
T ch cchwilch ohl TRETOT

4) No option is correct.
his ot faehey Tat ol &
Correct Answer: growth of plant without soil

fAedt o fomm utert <t gfg @

Candidate Answer: conservation of water technology
T ch cchwilch ohl TRETOT

QID : 292 - The physical structure of a Computer is called

h@cX chl Hifden SIIAC Shgdlidl & |
Options:

1) Software

TR

2) Hardware

STSdar

3) Firmware

ThH IR

4) Humanware

gATA®

Correct Answer: Hardware

gTSdar




Candidate Answer: Hardware

greday

QID : 293 - What is the national winter sport of Canada?

hITST <hT ATdehTel AT Wl T 8 ?
Options:

1) Ice hockey

3173 glch

2) Rugby football

el Hedlel

3) Baseball

et

4) Volleyball

GICICI

Correct Answer: |ce hockey
31TSY glehl
Candidate Answer: Ice hockey

TS gichl

QID : 294 - Who is the author of the book "Hitopadesh"?
"feiuar” TS Qi oh i dh i 87




Options:

1) Chand Bardai
BEACIA ]

2) Narayan Pandit
IR Ufed

3) Nagarjuna

4) Vatsyaayan

GIRIRE

Correct Answer: Narayan Pandit
TR0 Ufed

Candidate Answer: [ NOT ANSWERED ]

QID : 295 - Which state has started the "NTR Arogya
Raksha Scheme™?

[oh g ST A 'THEISTR RN &1 ST hl STREY fohar ?
Options:

1) Bihar

fogr

2) Madhya Pradesh

e el

3) Andhra Pradesh

3TTE TUSST

4) Goa

MaT

Correct Answer: Andhra Pradesh
3TTET ST

Candidate Answer: Andhra Pradesh
37TE ST

r - o . — . - Sy P dan = - .«.g_/ I



QID : 296 - Who invented the wireless?

T chT STsehR foha= fohar 1?

Options:
1) Marconi

HTehi-I
2) Newton

A
3) Charles Kettering

Tey che R
4) George Cayley
SifSl chet

Correct Answer: Marconi

HTehiAT

Candidate Answer: Charles Kettering

e che I

QID : 297 - Where is Salar Jung Museum situated in India?

YRd H TRl U hal fd g2
Options:
1) Jaipur

STIYR
2) Patna

UedT

3) Lucknow
[SECL IR

4) Hyderabad

r - o . — . - Sy P dan = - .«.g_/ I



Correct Answer: Hyderabad

Candidate Answer: Hyderabad

I [S] [

QID : 298 - "Kalidas Samman" is given by which of the
state government?

PTG T fohd TST TRhR ZIRT USH fehdT STTdT 872

Options:
1) Punjab

ENSIC]

2) Uttar Pradesh
IR TR

3) Madhya Pradesh
HeZ TS

4) Chhattisgarh
SAG

Correct Answer: Madhya Pradesh
qeg eeT

Candidate Answer: [ NOT ANSWERED ]

QID : 299 - To which country has India started supplying
80 MW of additional power from January 1, 20177?

1 S, 2017 T YR 7 fohg 221 vl 80 AMETe <hl 31fdfik<h
frsTett dh ST s aht 872




Options:
1) Bhutan

A
2) Bangladesh

AT
3) Nepal
uTe

4) Pakistan
UTfchedT™

Correct Answer: Nepal

EI]
Candidate Answer: [ NOT ANSWERED |

QID : 300 - Which is Pakistan's largest city?

TfchadT hl T ST RM8< ehid 9T 87

Options:
1) Islamabad
SEATHIEG

2) Lahore

SIFR

3) Karachi
Tl

4) Faisalabad
thaTdTG

Correct Answer: Karachi

hTIT

Candidate Answer: Karachi

hTIT




